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General Instructions :

1. The question paper comprises of two Sectiens, A and B. You are to attempt both the
sections.

2. All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word o1 in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each. 4

6. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Fach
question is of two marks.
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-3 / SECTION-A
1 =1 i =1 9 fafa . 1
CH; ~CH.:-CHO

Write name of the given compound :
CH;-CH.-CHO

2 34 SR 1 T Tt o T S A o e R gen wami ) St ¥ o frem ey 1
Name the scientist who worked on pea plants and gave rules for inheritance of traits.

3 1 < @ % AW fafEn S s we & e % o swerh ) 1
Name two chemicals which are responsible for thinning of ozone layer.

4 9 et % WIS | uftadT e g 2
(2) Ty aen

(b)  EETHTA %1 FROT A TEA E 7 AT GHON T AF I F AT I = T F I
ek A R | TS 1T uiesd welen g ¥ gialas w1 e ) frawsn vt s 87
How can change of size of eye ball be one of the reason for

(a) Myopic

(b) hypermetropic eye ?

Compare the size of eye ball with that of a normal eye in each case. How does this change of
size affect the position of image in each case ?

TR e ek HHIYA! % gaeeE o S EJEQFF O] W] F] AV Fifsra ? 2
State long term perspectives of management of natural resources.
6 FEe H Sufted 38 T & AW fofmd s e el w1 geet 9% e § Tedt 31 SS9 F 2
e it ferferesl form Wb e eRe il ¥ 7
Name the gas present in atmosphere that prevents UV radiations to reach earth. How are UV
radiations harmful to living beings 7

7 g sifuferan o Hewem sfafrar s 99 3R sga wemEal o1 e o 2 499 3
31 welt % 3eRw g wiseeras sifaferan oin doem sfufe o faves a9
Substitution reactions and Addition reactions are the characteristic properties of saturated and
unsaturated hydrocarbons respectively. Distinguish between substitution reaction and
addition reaction by taking an example of methane and ethene respectively.

8 Gl STl 1S9 AT # o S § e siiee s, S R faten), % yEm ser 3
IS o e wiivater % w0 H foran wman 24
()  wEsEd Ao ged T i R TElE agieaiiG Sl Ush Yoo 3 82
() T =1 gorn @fve teifes s § ifye
Mineral acids are used in laboratory but carboxylic acid like vinegar is used as a preservative
in pickles.
(i) Explain. Why vinegar is a weak acid while hydrochloric acid is a strong acid?
(if) Compare vinegar with glacial acetic acid. 7

" eGSR STHTSI W 1S A1 s fe e fade wife) 3

Difterentiate between soap and detergent through any three differences.

10 O 3R N =t A g e 3
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What is the atomic number of O and N?
In which period they are placed?
Which element would have smaller atomic size?
Which one would be more electronegative?
To which group would each element belong?
11 e H few avereen o ferm frufor @en & 2
At what stage is sex determined in human beings ?
12 ok o @ =1 wga feen S ¥ SEiE g A e s BRa S 1 s frufor yefa 3
BN fore ST B4 wopfa o form e w ® 7

A particular character is selected, whereas another is 1ejected. This is decided by nature.

How nature does this ?

13 FiTaes FAYT HT o F ¥7 gEF T oy foatEd

What is meant by vegetative propagation ? Give its four advantages.

14 Tsh 59 ! <t Fe & fas s qon fm il =) silorg siferd -
(d) ST TR I I FRAT B
(by S 9T F AR G FI U FA] T
(c) SN hfcTert sTareyn ® qou T T L B

Draw  the longitudinal
parts :

section of  a  flower

(a) Which produces pollen grains
(b) Which receives the pollens during pollination
() Which protects the flower in bud stage

15 (2 foww ¥ fo&¢ yoR = Rad & o9 @ w0 ¥ faw wigg fFa W 3

-

and

label

the

following

*

(b) TN EE S w B oww 9 wRiE # 3geE g 8, W gO w® @ W 87 wRw oI
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(¢ Tl da R anife W w A o off aafie we geie § gem ¥ 2

(a) In evolution, how is one change adopted to perform other functions ?

(b) Is it true that when a new species emerges, the old is eliminated ? State rcason.

() Why is it that asexually reproducing organisms are also capable of showing hereditary
features ?

16 () WS AN H Terreetty ofw o offivan weemEd |
(by T AT W F EeE 0 yen ufefd 8 ¥ ww e et off G v S A @

FIET QL T T W A
(a) Mention the role of crystalline lens in the human eye.
{b) How does the focal length of the eye lens change when we shift looking from a nearby

object to a distant object ?
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From the diagrams given below identify the :
(a) Most converging and least converging lens
(b) Most diverging and least dive{g;ng lens
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Hence infer how the power of a lens is related to focal length of a lens ?

TEIE] T SRTE w0 Y Feaw 5en § 9en e Al & e ¥ Y atfus emafea gu €1 Ak wE 3

18

sfer T St & Q) off HEreEl @1 grwEm Qe =i fred et difedl agd deEr 9 &fha T w®
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() o S mEAl w1 SuEm fasal 20 A w1 g 3w i

() &® vafaR fe eredi ) FR TR wefed 9w €2

There is uneven distribution of resources and pecple with money have an advantage. Even if
a person can afford, wastage of resources should be avoided as it might deprive even the

Download from http://jsuniltutorial.weebly.com Page 4 of 10



24

25

26

27

(i)  mufaa fego (i) e feror qen
(i) Towem mo = ifE st
(b) 9w % e e v EetRa PR S @ s @ s e ) g e 80

TF NG =T GEHa ¥ g9eiE | o

(a) Draw a ray diagram to show the refraction of light through a glass prism. On the
diagram mark.
(i) Incident ray (if) Emergent ray and

(i)  Angle of deviation
(b) What will happen when white light is focused on a glass prim ?  What is this
phenomenon called 7 Explain with the help of a diagram.

mﬁmr@mﬁmmwaﬁmmuﬁﬂ%ﬁwﬁmmmaﬂmﬁmn AG W 5
YA, TR T 9o Sk AR w5 2T # s fmae w1 w 9Rom B 30

Explain with the help of a ray diagram the formation of image of an object at infinity by a
convex mirror. Mark the pole, centre of curvature and focus on the diagram. What is the
result when object is moved towards the mirror gradually ?

HRT-9/ SECTION - B
I 91t 9fenet ) e s R 1
(a)  TELH (by TR
(©  HrEHER (d) AT
The process preparation of soap is known as :
(a) Esterification (b) Condensation
(c) Saponification (d) Oxidation
et Afviwar gem we) F v, T T A el feiens w3 w9 ufoond fagm F gag) 1
A fam e F W e v L0 -
(@) RO e sl ¥ =i ar ootz 5 Hren afEiia e ¥
(b)  wRom faerrm smETs & it 9w o fozam m e Wit woeda T
() who faeae sustta ¥ wifr g e frewd w1 &0 Tiafdy w2
(d)  ufeondt foemm amas § a9ife 7% o foeum 31 w0 ufefia = e )

After performing saponification reaction, a student dipped a strip of red litmus paper in the

resulting mixture. Which of the following is a correct
observation ?

(a) The resulting solution is acidic as it changes red litmus to blue

(b) The resulting solution is basic as it changes red litmus to blue

(c) The resulting solution 1s acidic as it changes red litmus to green

(d) The resulting solution is basic as it changes red litmus to green

519 =rw & o wen 9@ ¥ g =E we € 9 1
(@)  frue s (b) @ ITEA

()~ R (d)  w=EET

Soap does not clean in hard water because of :

(a) micelle formation (b) foam formation

(c) lather formation (d) scum formation
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future generations with the non - renewable resources,

(i) Give at least two reasons why do we need to use our resources judiciously.
(i) How can we inculcate environmental frien diy habits ?
P TROf % 14 3 Wz % 2 G S (W] FET 6) SRt (wem gen 14) £ s -

(@) ¥ 8 I W s faerg fafaw )

(b) TR HASTH A HIST |

() 34T & AW fafee i sifbes S worerss €1 3199 39 Tqfad S ghed e
(d) I FIC R A aem urg § ot qem 2 7o S R whtg S|

The two members of group 14 in the periodic table are carbon (atomic no.6) and silicon
(atomic no.14).

(a) Write electronic configuration of both elements.

(b) Deduce their valencies.

(c) Name the element which is more electronegative answer with proper reason.

(d) Find out whether these elements are metal or non-metal ? Give reason for your
answer.

ST T T g At e G s i gei e e 9§ g e da s
Hafral weo gE, fod 9 30 Trer {0 % qudt # off e 10 WhE W H g F1 T FiAC

(a) ST O o Wwfae seeg wm R

(b)  HIFTET A& FUTE } ey W | U 2

()  ¥W WKV ! P FHE A T AT THHRT BIAI 0 AT TR 2

An angiosperm plant having red coloured flowers when crossed with the other having the
same colour produced 40 progenies, out of which 30 plants were with red coloured flowers 10
plants were with white coloured flowers. Find out :

(a) What is the possible genotype of parent plants ?

s e R e g S

(b) Which trait is dominant and recessive ?
() What is this cross called as and what is its phenotypic ratio ?
HIFS HIET S o 1 T3 A o1 37 wei ) Awifea s 5 5

(a) TR 1 ST ¥ afe 369 3 3
(b)  FT W Wl FRfEa sie venfug € W &
(c)  TPTUST &1 T=9 Y |

Draw the diagram of & femaie reproductive system and label the part which :

(@) Produces egg in female germ celis
(b) part where the zygote is implanted
{c) Path for entry of sperms

TH % AT F Fam v g fareht mregn 3 svedTie $ wie Bt § e oa we % S
ferw =fare ferfes 1 = & Srier o1 i AvedTE 4/3 ¥1 9 F W F T 21108 m/s 1 AR

o FehTe T = I I

State the laws of refraction of light. Write down an expression to relate the refractive index of

a medium with respect to the speed of light in vaccum. The refractive index of water with
respect to air is 4/3. The speed of light in water is 2x108 m/s. Find the speed of light in air.

(@) U F= F Uow g1 W F1 Tqed Bvie ¥ fou o s @iftay qen 5
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(d)  fodt oft feon A
In an experiment to determine the focal length of a concave mirror by forming image of a
distant cbject the screen shouid be placed
(a) perpendicular to the plane of mirror
{b) parallel to plane of mirror

(c) inclined at an angle from the mirror
(d) in any direction

29 = feu e st ¥ e fr o snifaa w5 v 20 1
D

A

, Ta
AN s S e gt ﬂ(a) A {b) B ) (C) C (d) D
Which of the rays is drawn wrong in the figure given below
e A
C _Mi?;mx_qw_,, -
B T L T2
A R I
\T‘ L "' B \_:_____,__ e
\ z/; A
v/ “~
@ A (b)y B @ C (d D

30 Tordll SRR shia 3 <0 A g i R w1 U e @ & wam H, AR S A B, cAMpd 1
T I e & U 3 men g (amafed fRvn @ =eie e w e ) F e uel e se

feFai

(A} (30° 45° 60°) UH 2 cm.

(B) (30°, 45°, 60°) TS 8 cm.

(€)  (20° 50° 70% & 2 crn.

(D) (20° 5C° 70°) TS & cm. ,

oz Fsmm fF mar ed € 9z 2.

(a) (A) (b} (B)
(c) (€) (d (D)

In an experiment on tracing the path of a ray of light through a rectangular glass stab, four students A,
B, C and D used the foilowing values of angle of incidence and the distance between the two pins
{fixed on the line representing the incident ray)

{A) {30°, 45°, 60°) and 2 cm

o, Bacen
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(B)
(€
(D)

(a)
{c)

(30°, 45°, 60°) and 8 cm
(20°,50°, 70°) and 2 ¢cm
(20°, 50°, 70°) and 8 cm
The student who has taken the correct values is

(A)
(©)

(b) (B)
(d) (D)

JSUNIL|

31 ﬁa%ﬁﬂﬁﬁwﬁwﬁmﬁmmwaﬁﬁﬁwﬁ%ﬁuﬁmﬁ,Eﬂ?ﬁﬁméwﬁ 1
& T oA #1130 feoft & wm A o) ity

fofsr (ferfl) =t feerfiy s e =fa & s 21

fSa = 1 ufafds w39 &)

foie =1 Yerer wiafas s &

fsist =1 wfafsm 7@ =

While doing the experiment to trace the path of light ray through a triangular glass prism, the,

students are advised to take angle of incidence not less than 30° degree, because :

it becomes difficult to locate the position of object (pins).

three images of object are formed.

blurred image of object is formed.
image of object is not formed.

(@)
(b)
(©
()

(a)
(b)
(c)
(d)

32

&I frery

@ S« TE IS FTEF 99 Ivatass gaT
(b)  THET M YA S F =T

(c) TSI 37 ELRIEL R capic e

(d)  HTET T o T W © v
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The above specimens were shown to students for recording the observations and conclusions.
The correct sequence is :

OBSERVATION CONCLUSION

(a) Wings of animals Common  structure, common
function.

(b) Analogous organs Structure of common ancestor.

(0 Homologous organs Organs with common function.

(d) Analogous organs different structures but same
function.

forarf wee o =M &% S & <fe faved won awdt 31 3% vemre w1 fo favar ) e p e

=R o ¥

(@) SISO & "emn (by oo F TGRS

(c) oIt a1a1 =7 Sufewfy (d)  wigt = 3ufeufy

Shivani wanted to distinguish between the seeds of Maize and Bean. The identifying feature
which she should look for is :

(a) number of cotyledon (b) size of cotyledon

(c) presence of embrvonic axis  (d) presence of plumule

o gl =1 g i 2
(a)  TEifesh o7 1 SUEM e § Hifea |

(by U o7 =1 dma o F e A W |

Justify the following advises :

(a) Handle acetic acid carefully.
(b) Do not keep the bottle of acetic acid near flame.
1 et =1 el w9 | AHifed s 2
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Label the following diagram correctly.

Forelt et & ¥ SR AR 3 ey e enl Frl o 6 s AR ) srfief @ A e 2
3@ ot ol ifeg)

Zf“;‘, E"} { ’f }E {
T

In the given incomplete ray diagram for image A'B’ of a convex lens. What is the position of
object AB? Also complete the ray diagram.
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